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2 no3ned rﬁ@aé e903nsd 1 100

An organized unit in which institutions at the higher stage take the responsibility
of improving the standard at lower stage is

A) Adopted schools B) SDMC
C) School complex D) DSERT

3PTOBTY, MR, WTAT REUWROODR) IRTBRW T YV TOBE FORNY BoFHe3™
Pe38:3033 '

A) T2 2Ind B) a7 @a0 C) zowm modesas D) &amFesoeel
. The ratio between the sum of the scores and total number of scores is
A) Mean B) Median C) Mode D) Range
2,830 03T 50T 308 WOFNY 23, $033,03 LROTRBNTRYTO
A) Roozd B) degwds C) =03 D) 52
. The term which denotes the classification of instructional objectives is
A) Curriculum B) Taxonomy
C) Educational technology D) Methodology
BRETT NTEBNTR) DONEROPY TR ARUWRS T3
A) TZz=d B) Snrescozes,  C) 33s 3egens D) wecgm Qmes

. The diagrammatic representation of arrangements showing trends and movements

in an organization is a

A) Map B) Graph C) Flowchart D) Histogram
2,00 FOPUHOD BOBN 0B LOPNIR RRWRE Tesmogs R:3s
A) T B) sce C) moonse, D) &Arsmssr

. The method in which students are exposed to a series of stories/cases which

attempt to show how context and processes are established is

A) Lecture method B) Discovery method

C) Historical method D) Narration method

ROTIE O 302 F,cdoned Tert ARVROLIES 20T SREORED ﬁéﬁ%fabcj #oﬁéﬁ@e’d& WIRPOTO
B3RCORIT T ‘

A) NBRF T B) sampams C) xdx3ams D) 2ucmegs ames

. A component of non-verbal communication is

A) Language B) Eye contact C) Grammar D) Vocabulary
SRRV TOWBITI 20T FeIT03I0TT
A) R B) cg)é% ROTTE C) =303 D) 3w hlewnio]



7.

10.

1.

Classroom teaching is a

A) Complex activity B) Simple activity
C) Demanding activity D) Tricky activity
20N 3REHIOTN

A) Roderar 236303658 B) =09 3einmesd

C) wle@dodng e3e0esess D) cmmodd w3eomess

. The instructional objective related to affective domain is

A) Developing interest

B) Developing understanding

C) Developing skill

D) Developing memory

LRBIEYT WOOIT, FOWORAT LIRETT YVT3e3

A) RO IR B) 89539803080 L3R
C) 303, IR D) zomon eidadmmd

. Non-verbal communication is the essence in the skill of

A) Explaining
B) Illustrating with examples
C) Stimulus variation

D) Introducing a lesson

eﬂmwg mmxsmﬂ TE03D 0T em%g) @35@2@066

A) Q=0 598, B) cg)mwoéeﬁéﬁod T3,

() BlreToEs DOV T3, D) o8m=) Boedciros 593,
Observation done in a pre-planned manner is

A) Informal observation B) Formal observation

C) Systematic observation D) Direct observation

TPTF CIREIE BT BRET DT

A) ePTD0EDERE  B) Bawwozs C) SmiE A D) ST
The apex body that advices on matters of teacher education is

A) NCERT B) NCTE C) UGC D) NAAC
933 8360 QRODMYR BOT DRI YOS RO,

A) NCERT B) NCTE C) UGC D) NAAC



12. The formula used for computing quartile deviation is

A) Q3 B Ql B) Q3 + Ql C) Q2 B Ql D) Q2 + Ql
2 4 2 2
3FE3 m@ﬁwgs% TR B WIROT BT,
N &9 B Bt o -9 by L+
2 4 2 2
13. Which theory proposes that a child commits less mistakes when practices more ?
A) Classical conditioning B) Operant conditioning
C) Trial and error D) Learning by insight
OO YRR TIRTOE BRERNT) R SREERYFE 0w CInE 50T %)cx()poé TSRO ?
A) 908 =30WR B) 3cdnng exnons
C) Towg =) BeeR D) wotnewsvd3

14. The factors underlying creativity are
A) fluency, flexibility, originality
B) cognition, memory, evaluation
C) divergent thinking, convergent thinking, abstract thinking
D) spatial ability, perceptual ability, numerical ability

REBOCOZ LPRROBTIE 03D

A) NS, 3T, 5,083

B) &Ees, 7 8, SPemngs

O) @%eo@eéﬁ 23033, %eo@eéﬁ 2303, L9TWRBE 03T

D) ©:3500e03 TG, BZFHRNGID RO, 0T, RO

? DTSN

15. Which of the following is a Gestalt principle of perception ?

A) Law of Effect B) Law of Reinforcement
C) Law of Exercise D) Law of Closure
83 FFNTHNTE 3R R | T FHROWRE DONT ?
A) Zem o3 B) @Fwros 9050
C) @R 203 D) Fpds 0w
16. When MA and CA are same, the 1.Q. is
A) 95 B) 98 C) 100 D) 110

‘MA’ 2523 ‘CA’ risd mveeent LQ.
A) 95 B) 98 C) 100 D) 110



17.

18.

19.

20.

21.

22.

23.

Attitudes are

A) Acquired B) Innate C) Partly innate D) Partly acquired
ROBRELPRIND

A) RRTEDHR) B) =3agmnde)

C) pnd: xymEgmwEeY D) »ngs neasosmsm)

When the sample is selected from different age levels to study specific aspects of
development, that study is called

A) Longitudinal B) Cross-sectional C) Experimental D) Survey

QBIRTI 20T @@r% @oﬁd&q @C,S?Sodas BT 2303 2303 O3PSO msﬁfd& BETTF TN
eﬁoﬁ% MQﬁmo@%d, @CSQ 81300 B0V

A) ©00e0d QS B) s@ad s C) modeend o8 D) Faoed Ao

In an experiment, experimental group is deliberately exposed to

A) Dependent variable B) Independent variable

C) Intervening variable D) Controlled variable

20t Fodren zﬁ?g{ﬁeéz:s’@ﬁ T, 03ReN3 ﬁaoaa’% emd@eé@adr%mﬁ 03I zﬁmoﬁﬁ WIDEIPNOPYT?
A) =208 Boec3 B) %208 wo0c3

C) g =er w¥oees D) 203083 w0003

The term ‘developmental task’ was popularised by

A) Havinghurst B) Hurlock C) Erikson D) Binet
YBIRRET THOIFTIFD ” OWOTRI, FOBTRAPATRTO

A) masé)on%w—;r B) s C) Q0535 D) 23

The study of cause and effect of behaviour of an individual is known as

A) observation B) survey C) experimentation D) case study
28, TG0 B[RO FODFFITED BOWOTT LG0T, T5 068 FYODTHMTT1

A) Q3 B) mwed C) Iodeens D) 58 s o
Personality problems of adults can be assessed by

A) D.A.T. B) T.A.T. C) R.P.M. D) C.A.T.
SONFT 788 TBOT BRI, 83 BT PSRRI

A) D.A.T. B) T.A.T. C) R.P.M. D) C.A.T.
The curve of forgetting was drawn by

A) William James B) Watson C) Ebbinghaus D) Mullerlier
ST 38 Beadond SFOSOR) TR

A) O030 e, B) muss C) Qe mome D) S090°¢ oot



24.

25.

26.

27.

28.

29.

Wertheimer is famous as the founder of

A) Behaviourism B) Associationism
C) Psycho analism D) Gestaltism
TOLCT* B3 FINT CTT TOFT ATIZOTW TRQ BRI ?

A) I3 =T B) mx3cdr o3
C) DodredeRes T D) w@mer w8

Which of the following determinants of developmental task is an unchangeable
factor ?

A) Maturation B) Guidance C) Heredity D) Education

é)@m;%%’ TONF MR, BIORRYRIS 83 FINT AGFTINYY WESHISHNG 5905003
03RRTO ?

A) THoEE B) S»nroses C) 30w0decd3 D) 3¢
A student craves for recognition to

A) learn a new skill B) build his self esteem

C) correct his character D) shape his appearance

é)ma@roﬁmww RRFZ BEODW f&d@éﬂ ZBROTS
A) 3= z@%ﬁwﬁpoda’% 3OO

B) =, @ddﬁﬁ% QRFRERY LD

O) &?i splers Qd@{ S0BRY 0

D) 25 demnmd sonmrdny e

Human organism can show instantaneous reactions as they are endowed with

A) responses B) reflexes C) sensitivity D) insight
BRTED TENTO 3%5@&3’ e,—-’jégo:br{%?mq SRETL BRZTNT 85 %@ﬂdtﬁd& BROQTIT ?
A) 50803 B) = 803 C) Arg _n&z D) wdnees

It is referred to the cognitive frame-work which an individual uses to organise
experience and perceptions of the environment

A) imagery B) illusion C) schema D) engrans
TORTT @saaswme:% =0 @Oddaq 003D B0 @%@ ¢395Ea) 0T fac%aq RRWRRNT
A) wowned B) % O) %éem D) nod@nsh

It is possible to induce fear as well as remove fear in a child by

A) indoctrinating B) conditioning

C) training D) reinforcing

MRS FOBUTG eS0T, G000 FIRTLV 302 LoD VN AGEMIEI T8 030

A) SowmoYTd B) e20wonsieemmmd

C) ITeee Qeroy)Td D) RTros @)



30. A teacher wants to teach about an organisational set up using a computer. Which

31.

32.

33.

one of these programmes is best suited for the purpose ?
A) Excel B) Word C) Power Point D) Page Maker

éﬁ;&d@?@) SO EI0° LTRBROTE RO dg@:’éoﬂraodabq WRCQRLICTINT. f&d@_&ﬁ WERLTITOT
53,08 ARORRNTC FRWO IR ?

A) B B) @@ C) TR0 owoe D) Jeer® Soeso
Inductive method of teaching proceeds from

A) simple to complex B) abstract to concrete

C) unknown to known D) examples to generalisation
RN LRETI BRI &oert FIZT

A) RTFEC0T SRS BN B) ©@00m3rlos Sonr s @R

C) 820HOTR)TO0T ELRTOR BRM D) 0memtmseuios mewse & e3seats 3

A self learning material is

A) a text book

B) a teacher guide

C) one that helps student to learn on their own
D) a reference book

A,030 38F TN 030

A) 2otd B B

B) womd&sEoiae

C) QmHFvd gosse sOCHLD m%mﬁ:do@&d&
D) .00 T00a03r S D73

The use of computers in the field of education is to
A) gradually replace all teachers with computers
B) employ it as a tool to realise educational goals
C) train teachers

D) prepare educational CDs

9850 3B TE ToFR LTS WPFOI0

A) %Méd NG, BT0eed 50%@30“7@@ P DRROTYTINTS
B) 3338 noondsy 858e0m0m mpsmend

C) 23500 BodedmnrEen LIRS FTNT

D) 3338 2Rnds) 2o3ntd SRmmmnd



34.

35.

36.

Yearly plan in schools refers to the provision made
A) to conduct tests and examinations only

B) to organise all types or curricular activities only
C) to organise all types of co-curricular activities only

D) to organise curricular and co-curricular activities

TEODIT TRFT C3RERTOIN BTE, BOLOPAT

A) 3T TS 0= T TOBNTRD IERLO [Rg,

B) ¢ de80d &g wmdwﬁﬁ@;’mq B, a’gw:;ﬂra@#m

C) 2o, dedod A B, 13e0BLBRATR) BRT, FBAARD

D) 2@, 0e80d T, 3083 B% B, 13e0BeBRE) FHHRRIRD

Improvised apparatus refers to a device
A) prepared on the spot

B) prepared from expensive materials
C) prepared from waste materials

D) purchased from the shop

ROTROZ VTIFTaTR) B3 D0 TFTONTS
A) RIBSe BIRONBIBR)

B) 63 treom SRaneos Sinosmesma
C) RTmeg BRHNET SAROATBH)
D) eon@ooes 936@@%5303&55%

Choose an objective that represents cognitive domain
A) student draws a triangle

B) student appreciates contribution made by a scientist
C) student defines a scientific concept

D) student develops scientific attitude

P gmoms% TEIQROD emz:"gaeéﬁd@{ eﬁoﬁ%dfa@

A) QTR,HF oD GIRETHPOTRS, TURITYS

B) 5,5 030 20030 BRTORNTR), BBorROZS

C) DmfFotd R % FOTOZSROTT 539,93 AT

D) Q@95 030 $pn 08 Sodremns tEasne @

9-



37.

38.

39.

40.

41.

42.

Which one of the following is not a basic unit of a computer ?

A) Input unit B) Central unit

C) Output unit D) Control unit

83 FFNTZYNIFE cIRFTH FoTR LTS SO FHEIT WO,

A) @RS s B) deolod 33

C) nF Pws D) Qo303 es 3633

Which one of the following is an example for software ?

A) keyboard B) floppy

C) spread sheet D) compact disc

83 BINTRINYE AR B0, 08, YVTHTHOIRNGT ?

A) zﬁd%fzs% FOT B) O) A deer D) momF, &=,
Which one of the following is an example for hardware ?

A) MS word B) Excel C) Page maker D) Mouse
83 FINTRNYE CBRFYTO OO0, 038, LVTRTTEOIRNG ?

A) Q0. OF. IFE B) «3er C) Seer Soeso D) I°=F
Which unit works like a nerve centre of the computer system ?

A) UPS B) CPU C) SMPS D) PCU
VRNYEY 03RO REFFONCTT VTR FOT T ToODF ARFGRTT 2

A) odox° B) 2000

C) 7 Q087 F° D) 2203

The inclusion of S.U.P.W. in the school curriculum was recommended by
A) Mudaliar Commission B) The New Education Policy of 1986
C) Kothari Commission D) Ishwar Bhai Patel Committee
P Bge=nY S.UP.W, qu REORELD SPTR) WRERT SO3REN

A) S0TOCIRT® scdeen B) Ze= 830 deg (1986)

C) 3r500 sodeen D) 8530 17000 FTedeer R0

The philosophy of Plato was based on

A) Naturalism B) Idealism C) Pragmatism D) Realism
TR TBFS SEROTNTIE 28 ZoR, 7083

A) FRNFEmT B) stgrma C) sS=me0sms D) @ozzwes

-10-



43.

44.

45.

46.

47.

Man making education is the aim of education according to

A) Swami Vivekananda B) Sri Aurobindo

C) Gandhiji D) Dr. S. Radhakrishna

‘BRTI VBT STED” SF LT YVTIEB 0T LT 0ITIIT

A) 0 DB B) &e¢ woQomad

C) modeed D) @ |l o7, Soreg RS

The best method to evaluate the academic achievement of a student is

A) Performance tests B) Diagnostic tests

C) Periodic tests D) Content tests

QT3 QF 03 FFEB TGN, FPOTRT [RELD SBYZR VoS

A) =TT Toes B) oot moeg C) dodemdswmod D) amod@oes

The essential characteristics found in a gifted child are
A) Intelligence and self confidence

B) Creativity and Intelligence

C) Intelligence and divergent thinking

D) Creativity and hard work

B0 3, HF DY FoERITIES Fo0D @ﬁ;@ﬁﬁodd
A) wo0Z8 308y BB R B) Rxs9ew8 &8 wotds
C) wobgs S0y H¥eozE odeeess D) Zxsdeed &8y @030

Micro teaching helps the student teachers to

A) develop a positive attitude towards the profession
B) excel in the teaching skills

C) improve in learning skills

D) master class room management

LEVRCTS BHATION St FH0I BRERYTO
A) Feob Wit Ty wOFeeIoE WIRLD

B) @regme 598199 @oced @roen

C) 39 @5%7\’@55& SVUZTOTERLD

D) 23R8 A mmedd wmders SEodded

Group discussion encourages

A) co-operative learning B) leadership qualities
C) problem solving skills D) analytical thinking
RT3 0% TR, ETERT 03

A) AT50Es 503 B) 00388, roeanisd

C) R, BomT P D) ademrmdy 038

-11-



48.

49.

50.

S1.

52.

Driving of a car is an example of

A) Insight learning B) Conditioned learning

C) Skill learning D) Operant learning

TBROTR, SERFY T 83 FOFOK YWTDTOE SNT

A) wdnee3 3dF B) ebwegssds () 939,598 D) 3odnxg, 398
A group of like minded people is depicted in sociogram as

A) Clique B) Gang C) Populars D) Stars

RSt SSeDTS 3TN FRRE TIBVT WO MO0 Goeriordd Begess

A) & B) myore C) =303 D) Iz

The level to which Madam Montessori’s contribution is relevant

A) pre-primary B) primary C) high school D) pre-university
ETRT I, 0L5KRED L9530 BRTWINNYD RoLI0HITIH %ﬁfﬁé et

A) TRTE THHRT T2 B) m@as @2

C) T°E oow 302 D) T30 Fpess o2

The significant contribution of Aurobindo to education is

A) Basic education B) Creative self expression

C) Man-making education D) Integral education

200033 5 €98, QBT T30 FRTIN 03T
A) oo 838 B) Zxsdco sepms
C) Te= Ao D) =05, 0b 8850

The principle that distinguishes Jainism from Buddhism is in
A) The practice of eight fold path

B) Rejection of the infallibility of Vedas

C) Attribution of soul to all being and things

D) Belief in the rebirth

%S For o e TR TR WRNRIEI 0T B2,
A) TN SRNAFER, BROBORRIT

B) Seting Sowsonm $o50R%9w

C) Beodnomd R w02y At ente) &g atded
D) R0y Sowsd

-12-



53.

54.

55.

56.

57.

The main function of economic structure is

A) replacement of population

B) socialisation of new population

C) creating awareness about objective

D) production and distribution of goods and services

SHFT Te3F0I T FIOE

A) ®SR0s30D A¥ooET B) 303 x53030 mmne3esss
C) o053t om0 =R D) =03 30283 Aeaine evgems w02y 22T
The system of education promoted by Mahatma Gandhi was

A) Integrated education B) Spiritual education

C) Man making education D) Basic education
MPORETICIETTI YU éi 20

A) wg=o &T B) =83 éﬁ;@

C) BRIBI[, SRS 8880 D) S 8359

The pioneer to adopt the British educational policy in India is

A) Lord Clive B) Lord Macaulay

C) Lord Warren Hastings D) Lord Dalhousie
LPUBEY, WL FFETT VeS0T WROROWT SRTON

A) »EF g & B) oowts 3050

C) ms w7 F TN D) oow' s moerm@ore

The Magna-Carta of education in India is

A) Sargeant report B) Hortog committee report
C) Wood’s report D) Charter act
md@d@mégmd m@ TR RO BATY BBATOR)T

A) T ot RTD B) @& 2008 30

() ITS =T D) w3350 50003

The article in the constitution which speaks about “free and compulsory education is
A) 41 B) 46 C) 44 D) 45

RODTRRTE 0288 302 FE0% BT Wit B T
A) 41 B) 46 C) 44 D) 45

13-



58.

59.

60.

61.

Academic staff colleges were recommended by
A) The New Education Policy (1986)

B) Eswar Bhai Patel Committee

C) University Education Commission (1948)
D) National Education Commission (1964)

SR 200 @efemr{%%% STPTRD RNBT BID

A) e &85 2ed (19806) B) 8333 yo0 @edeer s

C) 93 omyo00 éﬁf@ esodnen (1948) D) T93y,6030 95550 wodeen (1964)
The university which was previously known as shantiniketan is

A) Nalanda University B) Vikram University

C) Banarus Hindu University D) Vishwa Bharathi University
81 8083 T908VBEET 208D TATO WEOT DB DTN

A) FoT 28 Dm0 B) Q33 8 Do decd

C) WDTF &0otd OB DTIVD D) &381208¢ 93,009,003

Comparison among the students leads to

A) personal assessment

B) healthy competition to excel

C) the knowledge of the status of the student with respect to others

D) provides opportunity to improve or progress

é)@_st;brr{%fa{g{ HORC BReIRRTT TOFT

A) 03088 SROTRT

B) ©=)32 73S BrEoben s8Renss 35

C) WedoDm0n Bowormesed mfF oD @gmm RF
D) =ns roten 53

The stages of cognitive development was described by

A) Aunsubel B) Kohler C) Piaget D) Bandura

ROLRTOFE QTR BOSNTR VWORTRD

A) s B) gm0 C) acdmned D) wozsd
-14-



62. We call a person as truly moral when
A) he is fully aware of the moral principles
B) he is very good in preaching morality
C) he knows and acts according to moral principles sometimes
D) knows and behaves according to the moral principles always

20, TFODR) ‘FETFAINY, T3 * 0T oY BRI

A) O30 5,87 QONRONE ROFREF @aws& ﬁd@@aﬁ

B) SgodnFes ?Dojadmmq BN WReQTN

C) 3oy TP nve 388 D0RONORRONOLIN EF AN
D) 88 2030m0ds0 S0mBR0mo mEROMIERN S8F AN

63. The advaita philosophy was propounded by
A) Ramanujacharya B) Madvacharya
C) Shankaracharya D) Mahaveera
W8, B 3 T0RR, BETOTRTO
A) ToRRRTPODE  B) o5 wmwode C) Josoowods D) Svmooed

64. Limiting the number of students in a classroom to 30 is to
A) pay equal and personal attention to all the students
B) identify and encourage gifted children
C) identify and help below average students
D) reduce the work load of the teacher

SONEODY DT, HFNY #o@%odaxaq 308 QERRYRTYTT emd@eé
A) 2Q ORRHFNINR FRRT 30BY 303087 NMe3dT AW
B) @émaes é)méz;ﬁrﬁ%fa’% AVSSEREVOEDIEIIN
C) RooRdNoZ 3¢REB TR HF MY MOTIE FTDOI VT
D) weowss aoﬁrmdd@{ BRI BRTED
65. The statement aptly speaks about the relationship between philosophy and
education is
A) Education is the creative side of philosophy
B) Education is the positive side of philosophy
C) Education is the dynamic side of philosophy
D) Education is the constructive side of philosophy

9350 0By B2 TORTTY ST BOWOPHI), AROTF TN SPROB BT

A) 3Tosy B2 ZoRT Rw0gs 0D B) 23505y 22,2085 09,35 @00
O) éﬁg@@ 3%%:’1_96 N3dee 0D D) %Msa@ 3%%:’3_;3 T0ZF 0020
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66.

67.

68.

69.

70.

71.

“World Environmental Day” is celebrated every year on

A) 8t March B) 5t June C) 8th October D) 8t September
T TR T, BOAT TR SWORT DT

A) InFe 8 B) wes 5 C) wirpuo 8 D) mdoeso” 8
“Learning by doing” is a key concept proposed by

A) Froebel B) Pestollozzi C) Dewey D) Rousseau
TRE T 0L BOFOFHOIR, BRI

A) Fpder B) &Rngoe C) @row D) drin
Spiral approach to curriculum construction is

A) Child centred B) Teacher centred

C) Subject centred D) Society centred

BT TSN ROTP WReBES YVUTT=TY)

A) 33>FeoRBmmord B) éﬁj%eo@émdada

C) Qw0 FeotyBmorsdnd D) == 3eoR@motdnd

The social relationship in the group among individuals is measured using
A) Anecdotal records B) Sociometry

C) Cumulative record D) Interview

20T THOT BT SEIDT ABI]T A0LIOTHR, BFODLI AT ONBTNITOBTOW

A) cg)muoé TSR B) m@mnwmans

C) R=0ug woadd D) Bowsrs

More objective scoring is obtained from

A) Essay type test B) Short answer type test

C) Objective based test D) Multiple choice test

B3 FRIVTFT 08N, TACDLO A T,

A) Zuwor BRTo Toeg, B) oo «gs Toeg

C) wies Slmplerct TOeE D) w®> 08, wt?@

The record that reveals the academic year’s planning of various programmes of
the school is

A) Log book B) School register

C) Activities register D) School calender

TOIOD 80T FTEFT WRF T QG TODFTEONY 03ReBOR, TOLWRS Tl

A) oo PFE B) soem 050 C) 23e0me3s 638:530" D) e 5ydomc
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72. Classroom management means

73.

74.

75.

A) Monitoring students activities while teaching

B) Utilizing the time and effort in instructional process properly
C) Maintaining discipline so that no student makes noise

D) Implementing strict rules to execute what the teacher feels good

IONSE AR T DOTT

A) BRQRITIN LT, HFNY WTBNRO [RNE TS SRR

B) negm F3ododnd Bmoo ey Zommd Ammr 5men wIRBRW T

C) canzmde Qo dF 52% BRTEOS IR FoTEIIY T

D) 5Esmn g 00w QRABR) Fo00F NSRRI 560 AOTONE) 0N BT

School supervision should be
A) Creative and critical B) Creative and positive
C) Creative and neutral D) Creative and constructive

TR ﬁo@%md%m BeNTLIeFoT
A) :’g)zzm?’g =0 @mmr?g B) :’g)um?g 02 @mas%é
O) :’g)um%é =0 3@3;\")@ D) :’g)umég doé_g dzém%ﬁ

The unit test is said to be easy if

A) Mean is equal to median

B) Mean is less than median

C) Both mean and median are high
D) Both mean and median are low

20T T ﬁ@eio:’m TOOLITNT DOT BEROTY)TTITT

A) FTERO BS0R wogw, 088 AN

B) Room0 e :053,088,08 3RECRNTIZT

C) Roemd 023 055,08 ORT LISse NOTEPNTIZT

D) RoeRd s302) 30579,08 0ET et SRRNEEE

In a distribution of 10, 20, 30, 40, 50, 60, 70 the mean and the sum of the
deviations from the mean will be

A) Zero and 50 B) 40 and zero C) 40 and 40 D) 50 and zero
aeyo3nwas 10, 20, 30, 40, 50, 60, 70 203n9R o0 3089 FTIROI0T WoTS BN
BRI

A) Aes 0=y 50 B) 40 25 Bes  C) 40 == 40 D) 50 ==y 3nd
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76.

7.

78.

79.

80.

[
The primary objective of SDMC is to

A) Establish control over the working of the school
B) Improve teacher’s financial status

C) Link the school with the community

D) Organize activities in school

DR RDOAOT 02, PVTIEB

A) 2R TODFF VOB e AOD0Z L2 YR

B) 59780 s6F m@ﬁda‘aﬁd&q SVZTTRAY T

C) 208 3022 AR0TIVONNE SR BT DTF BRI
D) meﬁﬁ%ﬁ@mwmd%mf@ S03C23IRIT) T

The process of communication that is best for controlling noise in a classroom is
A) Keep telling students not to make noise

B) Raising teacher’s voice more than the voice of the students

C) Remaining calm just looking at students

D) Neglect noise and continue teaching

BONS00Y, DBLI[), TOTELO YUBRTRT BORHBID T80
A) BWBRTEIR DT NRHFNIN TeZ e BT
B) Qmaoend §aNce 2308 500 SRSmerEimnd
C) RS QR nve Jreerizy SRS

D) Rentiodmtd Bonesacs wpeiodmd Sxomdmomdmmd

What is the role of the student in Heuristic method of teaching ?

A) Guide B) Investigator C) Co-ordinator D) Director
53 CRED WRETTD QORTY T3, HF 0 TR ?

A) SIRNFoses B) g e C) Rocdeexs D) s es
Characteristics of formal and informal communication are

A) Same B) Structured C) Unstructured D) Different
WREOT 208 WROTIOT FOVBIT MOLITF LN

A) ITRTHTR) B) 300:38m0w)) C) Bodosemensyy D) a5mos
A good teacher one who is

A) Highly intelligent B) Highly creative

C) Genuinely interested in students D) Genuinely interested in school
20, B SFFTR TR0 3R

A) 28 WHBOZTTNTOZITO B) @& Fx89e0mnamEmd

C) ORHFNYY TRPeFFmT SREOING T D) T30S0 0, mm 888 S 0307 =m0
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81.

82.

83.

84.

85.

Conflict between two positive goals is called

A) Approach-Avoidance B) Avoidance-Avoidance
C) Approach-Approach D) Avoidance-Approach
TR FIFT MOONLTON T BRTXE FRE T

A) SRmO- TN B) e@n@-w@mnsd

C) snmo-enw D) eznRmo-snwm

Abraham Maslow is famous for his contribution of
A) Layers of unconsciousness

B) Psycho-social stages of development

C) Psycho-sexual development

D) Hierarchy of Human Needs

TR0 mgmog 3%@% FRTORMN @%%@ﬂ@)ﬁ

A) R0z3 36350 TTONRD B) S03ne-m0m0e37 0508 Bo3ned

C) @Bee-gons Sosned D) SIns88 engnd ged

In the process of teaching a lesson Thorndike’s ‘law of readiness’ finds application in
A) Introduction B) Re-capitulation

C) Home work D) Development

TOBURGS T 0d0% 03RS BB, FOUF T TRT 3T ATTe DO &S, 030mRNTZ
A) o B) R0z C) nmsoos D) =80 =3
The most appropriate meaning of learning

A) Personal adjustment B) Madification of behaviour

C) Inculcation of knowledge D) Acquisition of skills

‘BOBOR TOFOROD 98 RRFTT LHF Y
A) FoDes Zeomsd

B) dérﬁojasoq WTSRCARBRTY T
C) 1B ISrBR0 T

D) '@5@3371@’5% 93RO TI

A mechanism in which our painful experiences are pushed down into
consciousness is called

A) Regression B) Projection C) Rationalisation D) Repression
SREVOT BRRT LRTBRRD R0F 1B, BX)[ BT T
A) Ien=s B) Zgezes C) m3donrevad D) ox303
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86.

87.

88.

89.

90.

The dominant representation in the stages of cognitive development according
to Bruner consist the following sequence

A) Action, Image, Words B) Image, Action, Words

C) Words, Action, Image D) Action, Words, Image
WRT0 TS0 gEs WERHR TOIRYY, FmnaD ©odny BOOIRT WRFR

A) 303, Wow, TIA B) wow, 803, Taned

C) Tonsd, 303, wow D) 30, @3, o
Ego-centric thinking is a characteristic of cognitive development during
A) Sensory-Motor Stage B) Formal Operational Stage

C) Concrete Operational Stage D) Preoperational Stage

WTO-FeoRT 03RS B3 TOSE AOPPTITE ITHAT FEINT

A) né-Roterogs Tog B) B@e08 808037383 T08
C) Sonrer Rot0Ings Eoe D) spar-z0803ngs ©oe
Raven’s Progressive matrices is

A) Verbal test

B) Non-verbal test

C) Performance test
D) Both verbal and non verbal test

cS’edai)ddd S EENS) m%éojo TOeF30

A) B o B) eﬂm?%é woed

C) 03nrgs mocg D) 2005 302 TOIRFEE TOCF,

In all behaviouristic theories of learning the concept that plays an important role is
A) Insight B) Perception

C) Reinforcement D) Intelligence

FAFOD O _TISF T %Cy%oémf@m 03D mgda’% TR0 wbéqﬁ

A) woBeees B) n&3 C) Izwros D) wotgt
Introspection method is mainly

A) Objective B) Experimental C) Subjective D) Philosophical
BOZTIRSRETT DGOTER) BNTN

A) SRF B) @ 03een? C) 3337 D) =083
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91.

92.

93.

94.

95.

A teacher uses a chalk piece to illustrate a cylinder. Which one of the following
teaching aids is being used ?

A) Diaroma B) Model

C) Geometrical device D) Improvised aid

FBFRO 26330 ROEPIR WPRBR0T ADOBET® &5Z O, YVTRBORITT. B FINT Cn tdeermo
RUBTF0IR, DY, WIYRERY TN 7

A) GoboRe B) S%»z0

C) Seazoneds evz0s0ed D) =R>z008 evasdes

Which one of the following is at the lower end of the hierarchy of cognitive
domain of objectives ?

A) Synthesis B) Knowledge C) Analysis D) Evaluation
83 BINSY NI, CIRTYTO R FOFF SOOI LTIEBNY B30T FOLI0NY F¥ToeTOT ?

A) Ro3eRes B) =3 C) 23wt D) S5Rnnas
Which one of the following can be achieved within a shorter duration ?

A) instructional goals B) educational objectives

C) instructional objectives D) educational aims

83 FINTRNYE CIRRTRO 3RERD BRI FHRWBITNT ?
A) Brermo nodned B) %ﬁﬁé mzﬂgsﬁ@b
C) Brepme mdgéﬁ%ﬁb D) 3zess nooNEd

Which one of the following devices can project images of both opaque and
transparent material on a screen ?

A) Epidiascope B) Slide projector

C) Overhead projector D) Film projector

BINS COI0E3 SUTBOLHY LTRTTBFE e TR S WA LIS TP 30eeS TIeeurbees 2
A) 22BIRARET B) 3 & ®psct

0) wIoSe Bpeiso D) wosug Bpso

In which of the following method, a student plays a most active role ?

A) demonstration method B) lecture method

C) discussion method D) discovery method

83 YN CIEI FOT DERITO DTHF XD TR, §0INTT TT,[R), BT ?
A) mZeE s B) ev@mR Qmes
C) ¥ Qs D) 3z 5o
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96. The concept attainment model has been developed by

A) D. Asubel B) J. S. Bruner C) D. Hunt D) W. Gordan

TOBLTD NYS mad@oja@L @zp%@@w@mdcb

A) @. sRder B) ¥ o%. wascr ) & soe D) @y . Aredra®
97. Lecture method is an example for

A) child centred method B) activity centred method

C) subject centred method D) teacher centred method

mwmg# wz%%odaa %zd%é 2,003 SVTTOBTTHBOITNTS

A) 820 BeolE BT B) 30e3esd geol@ Te3d
C) QmoD geolB T8 D) 883 3c002 B3¢
98. Which of the following test is most useful to identify punctuation errors in
writing ?
A) completion type B) matching type
C) essay type D) multiple choice type
WIBESRO0E, Se2d WRY SHNFR MOS0 B FPNT 03 TWoed e, BT 2
A) PEFBRTORNS TRTO B) Sre¢92 303008 R30w0
O) Fwog @%d@d@ D) wao =08 BT

99. The diagnostic test should include
A) difficult test item only
B) easy test item only
C) test items of all difficulty level

D) oral test item only

3T BB DI B TENT 0TH) WITRORTLIER

A) FT TINIR =7 B) Rovmns ZInvss =ng

C) @R 3w T D) &3P0 ZIndsd =ng
100. Which one of the following is not a learner centred teaching method ?

A) demonstration  B) project C) discussion D) seminar

81 TNTRNGY, 00T DTG 0BT L3R T3 90 ?

A) =Z83 B) cdrexmo wc;s% C) hdr D) &0 3080
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SPACE FOR ROUGH WORK
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DO NOT OPEN THIS BOOKLET UNTIL YOU ARE ASKED TO DO SO

Question Booklet Series Booklet No.

M.Ed. ENTRANCE TEST, 2009

Time : 10.00 a.m. to 12.00 Noon Max. Marks : 100

Instructions to Candidates

1. Write your name in the space provided in the OMR answer sheet.
2. Use only blue or black ball point pen to encode the circle.

3. The version of the question booklet (A or B or C or D) must be written and encoded in the space
provided without fail.

4. Ensure that room invigilator verifies all the entries you have made and write and encode the
question booklet version and signs in the space provided.

5. Enter and encode your test centre without fail. 1 is Mysore, 2 is Bangalore, 3 is Dharwad and 4 is
Gulbarga.

6. Register number must be
entered and encoded in the
space provided. An example is
provided here. If a candidate has
register number of 253579, it

should be encoded as follows:

ook w@— O
oo L@~ O

CoNo@r WO — O
CoVo@b W= O
Co@ U AW = O
@ 2o Unh L~ O

7. Each question has four alternatives A or B or C or D and questions are numbered 1 to 100. Encode
the relevant answer number in the OMR sheet.

8. If more than one answer is encoded and corrections are incorporated, no marks will be awarded.
Each question carries one mark. There is no negative evaluation of answers.

9. On the OMR answer sheet, use of whitener or any other material to erase/hide the circle once
filled is not permitted.

0. For calculation and rough work use blank pages at the end of the question booklet.

1. Use of calculators is not allowed.

2. Follow all the instructions of the room invigilator without fail.

3. Candidates are not allowed to go out of the Test Hall until the final bell goes.

. OMR answer sheet must be submitted to the invigilator before leaving the Test Hall.

| 15. Instructions 3, 4, 5 and 6 given above must be compulsorily followed.

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE ASKED TO DO SO
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